11.6) Integration by parts



Worked example Your turn

Find: Find:
jxsinx dx fxcosx dx

xsinx +cosx + ¢




Worked example Your turn

Find: Find:
sz cosx dx fxz sinx dx

2xsinx —x%cosx +2cosx + ¢




Worked example Your turn

Find: Find:

sze‘x dx szex dx

x%eX —2xe* +2e* + ¢




Worked example Your turn

Find: Find:
jx3lnx dx flenx dx

1 1
§x3lnx —§x3 +c




Worked example Your turn

Evaluate: Evaluate:

4 2
f Inx dx f In x dx
1 1

2In2 -1




Worked example Your turn

Find: Find:
fexcosx dx Jexsinx dx
1 1

—Eexcosx+ze"sinx+c




Worked example Your turn

Evaluate: Evaluate:
T T

2 2
f X COSXx dx J xsinx dx
0 0

1




